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1. Which one of the following parameters
is inversely proportional to the annual
genetic gain ?

(1) Heritability
(b) Selection differential
’ (c) Generation interval .

(d) Repeatability

exotic inheritance of the sire will give
~ the progeny with 5/8 exotic.inheritance

when crossed with a half bred dam ?

(a) 50 per cent exotic inheritance

(b) 25 per cent exotic inheritance

(¢) 75 per cent exotic inheritance

(d) 100 per cent exotic inheritance

3. Which one of the following methods
cannot be used to estimale:the hertta-
bility of milk yield ?

(a) Paternal haif sib correlation
(b) Regression of ‘daughter on dam
(¢) Regression of daughter on sire

(d) - Full sib correlation

4. Which enzyme joins the two segrhents
of a broken strand of DNA ?

(a) Ligase
(b) DNAase
(¢) Nuclease

(d) Polymerase
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5. Cloned sheep “Dolly” was created

{d) Germinal cell transfer

. ' ) . ider following sta ts :
2. Which one of the following degrees of - Consider the following statements

Which of the statements given above

I(b) l-and 3 only

o 1,2and 3

. Which one of the following technologies .

through
{a) Gene transfer
(b) Nuclear 'lransfer_

(¢) Somatic cell transfer

4

The objective of the production of
transgenic cells/animals are

1. to obtain the proteins encoded by
them

2. to produce a new strain of animal
3. to alleviate or even eliminate the
symptoms of genetic diseases
are correct ?

(a) 1 and 2 only

(c) 2 z-md 3.only

could result in faster multiplication of .
superior germplasm in dairy animals ? *

(a) Marker assisted selection
(b) MOET
{c) Progeny testing of bulls

(d) Artificial insemination
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10.

parentage or individuals can be carried

‘out by
{a) mim satellite

' (b) micro satellite

(c) RAPD
(d) All the above .

identifying .

1.

A study revealed the following observa-

tions :

-

Mean milk
vield (kg)

Growth hormone

Genotypes
AA - 1400 SE 1502
AB 2100 SE 110P

BB 2250 SE 180°

Means carrying different superscripts
differed significantly from one another.
The above results indicate that

(a) A allele causes higher milk yield

(b) B allele is completely dominant

over A allele

(c), A ailele 1s compietely dominant

over B allele

(d) B allele is partially dominant over

A allele

The cross between White Leghorn and -

Silky Wyandotte birds gave 1300 white
and-300 coloured bird progenies. Which

_-of the following inferences is correct ?

(a) Allele for white colour is dominant
over the allele for coloured plumage

(b) The altele for Coloured‘plumage ‘18
dominant over alicle for colour
inhibition :

N-DTQ-K-CJX -A .  °
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()

- 8.'DNA  finger-printing for

(c) In these birds colour patiern is
- governed by one gene

The expression of dominant allele .
for colour plumage is inhibited by
~ the dominant allele for colour
inhibition

Match List I with List I and select the

correct. answer using the code given

below the Lists :

‘List I List I
{Syndromes) (Chromosomal
_ abnormalities)
A.Down - 1. Trisomy of 21st

chromosome

B. Klinefelter 2. Trisomy of sex

chromosome
C.Turmer 3. Monosomy of
. sex chromosome
4. Trisomy of 18th
' chromosome
Code : | |
A B C
@ 1 2 3
® ' 2 ‘4
© 1 3 4
(d 2 3 4
Many viruses, for example HIV virus,

affect the immuno-biological system in a

. way due to which immune cells lose

their ability to mount complete response
against their target pathogens. The
appropriate name of this phenomenon is

(a)
(b)
©
(d)

Anergy
Allergy
Tolerance . K

Resistance
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13.

Consider the following statements :

1. Low hentability of a trait is the

indication of higher variation in -

breeding values between the
members of the population.

2. Heritability is the ratio of environ-
mental variance to total genetic
variance,

Which of the statements given above .
“is/are correct 7 ' o

(@) 1 only
(b)- 2 only

" {c) Both I and 2

14.

15.

(d) Nei@her 1 nor 2

The genetic covariance among half-sibs
is

] )
(d) > Va T Vp + Vge

Outcross is an individual produced from
mating between which of the following ?

{a) Same breed and closely related
individuals -

~ (b) Different breeds and closely related

individuals

(c) Same breed and not closely related

individuals

{d) Different 'breéds_ and not closely

related individuals

N-DTQ-K-CJX — A
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17.

18.

Which one of the following cattle breeds
is an important draught purpose breed ?

(a) Gir

(b) Kankrej

(¢} Tharparkar
(d) Amrit Mahal

P

Match List I with List II and select the

correct answer using the code given
below the Lists :

List I List II
(Condition) (Mineral
- deficiency)
A. Sway 'back 1. Zinc
B. Pining 2. Copper

C. Slipped tendon 3. Manganese

D. Swollen hock 4. Cobalt

syndrome -
Code :

A B C D

@ 2 4 3 1
® 2 3 4

¢ 1 4 3 2

' 1 3 4 2

Which one of the following indispensa-
ble amino acids can be synthesized by
pigs 7. '

(2) Methionine
(b) Phénylalanine
(c) Arginine

(d) Histidine
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19. How much will be the calving intérval

in a crossbreed cow having standard
lactation length and a dry period of
86 days ?

LN
(a) 386 to 391 days
(b) 336 to 341 days
(c) 286 to 291 days
(d) 236 to 241 days
20. What should be rhe. ideal lairage (space

for rest before slaughter} for sheep, goat
and pig ?

(a) 2:36 m?
(b) 1-86 m?
() 136 m?
(d) 0-56 m?
21. Which one of the following is the
correct feed requirement for growing

pigs between 121-180 days (as a broad
guideline) ?

(a) 250 to 750 g/day

(b) 750 g/day to 1-5 kg/day
© 15 1o 25 ke/day

(d) ?-5 to 3‘5'kg/da.y

22. The toxic role of which one of the

following is observed in the condition-

known as teart ?
(a) Molybdenum
'(b) Nickel
(c) Selentum

@) Zinc

N-DTQ-K.CJX - A
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23. Match List I with List II and select the
correct” answer using the code gwen
below the L:sts

List 1 : ; List I1
* (Species) (DMI : Water
: consumption)
A. Adult cattle 1.1:6107
B. Calves 2.1:4
C_.'Sheep and goats 3.1:31t0 35
 D. Poultry 4.1:2
l Code :
| A B C D
@ 3 2 1 4
'(B) 4: .2 1 | 3
© 3 1 2 4

@ 4 1 2 3
24. Among the following organic acids,
which one is an essential fatty acid ?
(a) .Aéeti.c acid
(b) Linoleic acid
(c) Stearic. acid

{d) Propionic acid

25. ‘Goose stebping gait’ in pigs is

manifested due to the deficiency of
which one of the following vitamins ?

~ (a) Pyridoxin
(b} Niacin
(¢} Riboflavin

. (d) Pantothenic acid .
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26.

27.

28.

‘Curled toe par.aiysis’ in chicks is a
symptom of the deficiency of

(a) Riboflavin
(b) Niacin
(c)' Phosphorus

~(d) Sulphur

Match List 1 with List II and select the
correct answer using the code given

-below the Lists_; :

List 11

List 1
(Deficiency (Nutrient)
disease)

A. Simple goitre 1. Tocopherols

B. Xerophthalmia * 2. Thiamin
C. White muscle 3, Iodine
disease ,
: 4. Niacin
D. Beriberi
5. Vitamin A
Code :
A B C D
(@) 3 4 1 5
® 3 5 P2
@ 15 3 2
4 3 5

@ 1

Which of the following is an example
of pre-biotic used as feed. supplement
for improving the performance of mono-
gastric ammatls ?

(a) Lactobacilli
(b) Saccharoniyces cerevisice
(¢) Fructo-oligosaccharides’

(d) Bifidobacteria

N-DTQ:K-CJX - A
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29.

30.

- (©

The fleshy prominent mass which lies
between the forelimbs of a cow 1s-called

(a): Flank
(b)
(c)
(d)

\

Rump
Dewlap
Brisket

With reference to animal house, con-
sider the following statements: .

1. The pitch angle is kept 35 degrees
~ for thatched roof in cowshed... -.

2. The pitch angle is generally kept
~ steeper in heavy rainfall areas.

3. The'p'itch' angle should not exceed
45 degrees at any rate.

Which of the statements given above

is/are correct ?
(a) 1 and 2 only
(b) 2 and 3 only

Y

I and 3 only

@ 1,2and3

3l.

. housing

. S
What is the name of the type of roof of
an animal shed where roof truss or roof
frames are not necessary ?

(a) Single sloped roof
(b) Couple closed roof
(c) Collar beam roof

(d) King post roof B

. According to. BIS, what is the“'r‘écom-

mended floor space requirement of loose
under covered area "for a
buffalo ?

(a) 7 sq. m

(b 65sq. m
{¢) 55sgq.m v S
(d) 4sq. m E
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33.

36.

37.

What should be the length. of dry period
in cattle ?

(é) 40-80 days
(b) 80-100 days
(c) 30-40 days
(d) > 100 days

[ 3

. The term ‘wether’ refers to the

: (aj removal of feather from a fowl

(b) male pig that has been castrated

(c) male lamb that has been castrated
before reaching sexual maturity

(d) poultry birds kept ready for culling

. Which of the followmg is not a part of

variable cost ?

(a) Feed

{b) Medicines

(¢) Cost of animal

(d) Labour charges

Which one of the following breeds of
goat produces pashmina fibre ?

(a) Charigthangi

(b) Gaddi

(©)
{(d) Beetal

Barbari

As a result of acute mastitis which one
of the following will increase abruptly
and result in poor quality milk
production ? . :

{a) Fat content
(b) Somatic cell count
(c) Solids not fat

(d) Lactose content

N-DTQ-K-CJX -~ A
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38,

32.'

There is a direct correlation between
somatic cell count (SCC) and quality of

-mitk produced, as former is the indicator

of udder inflammation. The normal
values of SCC per mi. of milk should be

(@) < 10°
M <106 .
© <107
(@ <108~

A trap is a device for preventing sewer

gases escaping into the house drainage

system. Which one of the following
factors is most important in terms of

reliability of functioning of the trap ?

. , _ 1
(a) Depth of the water seal

(b) Infrequent flushing of the dr_zgi’ﬁ

(c) Using pipes of improper diameter

(d) Improper alignment of the trap

40.

41.

L P
The buffalo breed having hlghest fat
content in milk is

(a) Murrah

(b) Surti

(c) Bhadawari I

{(d) Nili-Ravi PR

What is the approximate organié' matter
content in fresh cow dung 7~

@) 20% o
(b) 35% .

(c) 45%

(d) 60%

.
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(b) 35%
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. (d) 60%
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42. A teaser is maintained in the herd to
(a) inseminate a cow
(b) protect weak animals
(c) . detect apimals in heat

(d) collect semen

43. The percentage of ‘hitrogen of cattle -

dung is
@ 016
®) 031
©) 034
@ 040
" 44. The dribbling from the prepuce of the

buli before mountmg is the secretion
from

(a) Prosﬁxte gland
(b) Vesicular gland
{c) Epididymis
(d) Cowper’s gland

" 45. In rabbits, the ovulation occurs
(a) - 8 hours after the onset of heat
(b) 12 hours after the onset of heat
(c) 10 hours after mating

(d) 8 hours before the end of heat

46. The ability of an animal to produce more
number of offspring in each pregnancy
irrespective of whether they survive or
not is known as

(a) Breeding efficiency
(b) Fertility

h

(c) Fecundity
(d) Nicking ability

N-DTQ-K-CJX - A
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~ 47. The presence of ptoximal protoplasmic

droplets " on

gjaculated
indicates ‘

spermatozoa
P

(a) -Immature éperm :
(b) Overmature spt‘;nn
(c) Degenerative sperm
(d) Dc;nﬁanr sperm
48. The rate of uterim;, involution following-
parturition is the fastest in
(é) Mafe
(b) Cow
(c) Doe
(d) Ewe
49. Egg yo}k'isr widely used as exte':fider in

the preservation of semen mainly .in the
context of

(a)

protecting’ the spcrmatozoa agamst
cold shock -t

(b) providing proper acid base balance
- (e)

(d)

increasing the viscosity of extender

incorporating certain enzymes for
better conception

- i
50. Which one of the following is the most
accepted packing system for deep
freezing of semen 7
.. (a) (25 ml French mini straw )
(b) 050 mi Frehch mc;dium_straw -

(c) Glass ampoules

(d) Pellets
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51. Match List I with List II and select the 53, What is the energy value of milk fat ?
correct answer using the code given e
below the Lists; = . {a) 3 keal/g
Listc1 -~ Listd S
(Cell/Organ) - (Substance (b) 6 keal/g
secreted)
A. Corpus futeum 5. Andf(_)gen : (¢) 9 keal/g
B. Leydig cells 5 Inhibin (d). 12 keal/g
C. Sertoli cells o '
_ 3. Gonadotropins
D. Anterior 4 Gn RH 54. Match List T.with List IT and select the
pituitary SRSE . . .
. _ - correct answer using the code given
3. Progesteron below the Lists :
-Code : o : e
' List ] List I _
A B C D (Abortion (Abortion time
(@ .1 3 4.5 diseases) in cows)
") 5 1 2 3
. ' + A. Brucellosis 1. First trimester
() 5 4 3 2 : .
@ 1 2 3 4 . B. Vibriosis 2. Last trimester
52. Match List | with List Il and select the ¢ Trichomoniasis 3. II half. of
cotrect answer using the code given o gestatioﬁ
below tbe.Llsts D L ‘ D Lept;)spirosis '
" List 1 List H 4. 4 months to
{Species) (Length of - "~ term
' _ estrus in hours) :
A Cow 1,36 ' 5. Highly variable
. - ’ i
B.Ewe- . = - 2,40 y
we Code : g
C. Sow " 3. 45 '
D.Goat 4. 18 - A B C D
Code: —+ - @ 2 4 1 3
- A . B C.- D
(ay 1 2 3 4 (by 5 o 2 3
(b) 4 1 3 2 :
, () 3 4 5 1
{c) 4 3 12 - ,
@ 2 1 3 4 @ 2 5 1 a

N-DTQ-K-CJX - A . ' "16




St g1 A a1 ¥ mf B i

qﬁﬁ%ﬁ%ﬁqwgwmm{ﬁ’r
IR g :
Lo =T 11
(FfE /) (afw AR

. . =TS =)
A. Ui fqog’ L. Q@‘ﬁﬁ

B.Fﬂﬁﬂ‘?’ﬁﬁm 2. TRRm
C. qatet i 3. MR

i Dm-dufE . 4 GnRH

5. TG
v A B C D
@ 1 3 4 5
b 5 1 2 3
"5 4 .3 2
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53.

54.

e & g Ay o
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55,

56.

57.

Match List I with List 1["and select the
correct ‘answer using the code given
below the Lists :

~ ListI List T1
~ (Animal) (Best Stunning
Agent)
A. Buffalo 1. Free bullet
pistol
B. Horse o
.- 2. Carbon dioxide
- C. Pig gas
D. Poultry 3. Captive bolt
' ' pistol .
4. Electrical
Code : T o
A B C D
(a) 4 I 2 .3
(b)y 4 2 1 -3
@ 3 1 2 4
@ 3 2 4

Consider the following statements asso-
ciated with marbling of fat:

1. 1t occurs only-in young and we]l
nourished cattle.

2. It does not occur in oider animals.
3. It does not occur in horses.

Which of the statements given above
is/are correct ? -,

(a) I and 2 only '

(b) 1,2 and 3

(¢) 2 and 3 only

(d) 1 and 3 only

Nitrite addition to meat is responsible
for inhibiting the growth of ~which
bacterta ?

- (a) Salmonella

(by Staphylococcus aureus
(c) Clostridium botulinum

(d) Mycobacterium tuberculosis

/ N-DTQ-K-CJX ~ A
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58

59,

60.

.. (©

The formation of different egg compo-
nents takes place in different parts of the
reproductive system of hen. Which of
the following egg components is nof
matching with the part in which lt 1s
formed 7.

(2) Yolk : Infundibulum

(b) Albumen : Magnum

Isthmus
i

{c) Shél]- membranes :

(d) Egg shell Uterus -

Egg laying in poultry is a' complex
physiological process involving different
body organs and hormones. Which of the
following statements is nof correct
concerning the control of egg laying
process ?

(a) Light stimulates the release of FSH
from anterior pituitary

(b} The ovary secretes oestrogen which
causes development of oviduct

The ovary secretes progesterone
which causes the spread of pubic
bones and enlargement of vent

©

(d)

The oxytocin causes the muscular
contraction needed for expulsion of

cge

Haugh unit score is an important quality
parameter for judging the quality of
eggs. It is measured as the )

(a) ratio of height of thick albumen to
1ts d:amcter

ratio of height of yolk to its
diameter

®)

log of height of thick Faibumen
adjusted to egg weight

(d) rato of diameter of egcr yo]k to
albumen
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61. The egg is considered as the highly
nutritious food. The protein and energy
contents in a standard sized chicken egg
(50-55 g) are

(a) 6-5g protein and 90 kcal energy
~value |

(b) 13 g protein and 150 keal energy

vialue

{c) 3g protein and 60 kcal energy
' - value ,

(d) 6-5¢g protein and 240 kcal energy
‘ value

62. Which onc of the following pairs is
correctly matched ?

(a). Acute and Horse
sub-acute form

of Leptospirosis’

{(b) Acute form of

Sheep
Leptospirosis '

(c) Abscess formation Surra

in sub-maxillary
and para-pharyngeal
lymph nodes

(d) Trismus with Glanders

restriction of jaw
movements

63 Consider the following diseases :
1. Anthrax |
2. Bruce'llos'is
3. Johne's disease

4. Contagious bovine pleuropneuimo-
nia '

5. Foot and mouth disease

N-DTQ-K-CJX — A . 20

The diseases spread by contaminated
feed and water would include

(a)- 1,2, 3 and 4 ,
") 1,2 3and 5
(¢} 1,2 and 4 only
d) 1.3 and 5 only
64. The set of diseases having zoomotic
nmportance are

(1) Rinderpest, Mad cow disease and
Rabies

(b) Rabies, Avian influenza-and Mad
cow disease
- {c) Mad 'cov’v disease, Rabies and PPR
~ (pest des petits ruminants)

{d) Rinderpest, Mad cow disea:;ehand
Avian influenza

65. Match List 1 with List II and select the
comect answer using the code given
below the Lists :

~ List I
(Disease)

List II
(Diagnosis)

. Knott’s test

Sabin Feldman -
dye test

3. Modified Zeil
Neelson Stain

Pt

A. Toxoplasmosis

B. Hydatidosis

™

- C. Filanasis

D. Cryptospori-

diosis 4. Casoni test
Code : '
| A B C D

@ 3 4 1 2

® 2 4 1 3

@ 2 1 4 3

@ 3 1 4 2
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67.

List | List 11
{Disease {Pathogen)
condition) :
A. Pink eye S ¢ Actinomyces
; - Sp. .
B. Grey eye . .
2. Erysipelothrix
C. Woode’n Sp. -
tongue 3. Moraxella
DL aw -
. Lumpy jaw :
: Py . 4, Marek’s
E. Diamond - disease virus
- skin 5. Actinobacillus
' . Sp.
- Code : . ,
A -B. C D E
@ 4 3 5 1 2
(by 3 4 1 2 5
(c) 2 3 1 4 5
(d 3 4 5 1 2
Which one of the following is the
antiviral drug for the treatment of
“Herpes Virus” infection ?
(a) Amantadine hydfochloride .
(b) S-iodo-2-dioxyuridine
(c) Thiosemicarbazones o

Match List I with List IT and select the
correct answer using the code given
below the Lists :

. (&) Acyclovir

68.

Which one of the following tests is
preferred for serotyping of ‘a virus
isolate 7

(a) Agar gel precipitation test (AGPT)
(b) Virus-neutralization test (VNT)

“(c) ELISA

(d} Immunofluorescence test

NDTQ-K:CJX - A
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69.

70.

71,

(a)

¢}

Which of the following factors leads
to hypomagnesaemia in cattle ?

Decreased dry matier- intake,
increased excretion of magnesium
in urine and hyper activity of
thyroid gland

Increased dry matler intake,
increased excretion of magnesium
in urine and decreased activity of
thyroid gland

(b)

Incredsed green fodder intake,
decreased excretion of magnesium
in" urine and hyper activity of
thyroid gland

High protein, calcium, soditm and
potassium in the diet

(d)

Crazy chick disease is a result of the
deficiency of which of the following
vitamins ?

1. Yifamin A

2. Ribofla')in

3. Thiamin

4. Vitamin E

Select the correcl answer - using the
code given below :

(@) 1,2 and 3

(b)" 4 only

(c) 2 and 3 only ' .

(d) 1 and 2 only

In ruminants the ketone bodies are
normally produced by

(a)
(b)
()
(d)

Rumen wall and liver
Rumen wal! and ‘spleen "
Rumen wall, liver and spleen -

Rumen wall, liver

intestinal wall,
and spleen '
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72. Match List I with List I and select the In which one of the following are the
correct answer using the code given _above-said lesions scen ? et
below the Lists :

List I List I (a) Hypocalcemia
(Nutritional , {Cause) _ .
disease) ‘ {b) Hypomagnesemia
A. Crazy chick 1. Vitamin E (c) Manganese deficiency
. deficiency . . o
B. Moon blindness - o {(d) Selenium toxicity
(star gazing) 2. Vitamin B,
deficiency . :
C. Scaly limb 3. Zinc 75. Consider the following major aflatoxins
disease deficiency . co_ntammaung animal and poultry feed : .
D. Parrot’s beak 4. Manganese 1. AF B, .
deficiency R
2. AFB
Code : 2
A B C. D 3. AF G,
\ by 1 2 3 4
" : Which of -the following sequences
' © 4 3 2 1 correctly indicate the potency of
(d 4 2 3 1 aflatoxins in descending order ? -
73. Which vitamin participates in the carbo- (@ 1-2- 3 -4

xylation and decarboxylation reactions. . ‘ . \
involving fixation of CO, ? ® 2-1-3-4

(a) Biotin © 1-2- 4- 3

b) Choli

(b) Choline @ 2143

(c) " Pantothenic acid - !

(d) Niacin 76. Which one of the following is the best
‘ combination to control CNS excitation
74. Consider the following pathological - caused by toad poisoning in dogs ?. .
lesions : | ' '

1. Inflammation of urinary bladder (a) Halothane and Diazepam

. Necrosis of heart muscles _ (b) Halothane and Thiamylal

2
3. Congestion of lungs (c) Pentobarbital and Diazepam
4. Ulceration in the abomasum and '

small intestine (d) Pentobarbital and Thiamyial
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77.

_Consider the following diseases :

1. Anthrax

2. Brucellosis

- 3. Hydatidosis

Which of the above are anthropo-
zoonoses 7

(a) 1and2only
(b) 2 and 3 only

~_{c) 1 and 3 only

78.

79.

N-DTQ-K-CJX - A

(d) 1,2and 3 "

Consider the following vaccines :‘
1. Sheep pox RF strain vaccine
2. Ranikhet disease F strain vaccine
3. Foot and mouth disease vaccine

4, Swine fever lapinized vaccine

Which of the above is/are tl;ie live

vaccines used for the control of
inféctious diseases in livestock and
poultry ?

(a)
(b) 1 and 2 only

1 only

(c) 1,2and 4

(d) 2 and 4

Which of the imrhunﬁglobulin is called
as “Reagenic Immunoglobulin” ?

@ IgE |

) Iz D

(cl) Ig G.

@) 1M
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80.

81.

82.

The MHC Class I molecules are
involved in presenting

(2) exogenously processed antigen
(b)

(¢) both exogenously and endogenously
. processed antigen

@

endogenously processed antigen

only self antigen

Rejection of a foreign skin graft is an
example of ' '

(a)
(b)
(c)
(d)

-tolerance
antibody-mediated immunity
a secondary immune response

a cell-mediated immune response

The small and. chemically defined
substances which are not immunogenic -
but c¢an react with antibodies of
appropriate specificity are called

~ (2) Antigen

83.

) Hapténs

{(c) Immunogcﬁs -

(d) Vaccines

The breakdown - in immunity to New
Castle disease vaccines in poultry may
be due to the immuno-suppression

caused by

1. infectious bursal ‘discase viryus
2. chickenpox virus

3. avian encephalomyelitis virus
4. coccidial infection

Select the correct answer from the
code given below :

(a) ! and 3 only

(b) 2 and 3

(¢) 1and 4"

(d) 1 and 2 only | )
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84. To which of the following parasitic
diseases is a recombinant vaccine availa-
ble commercially ?

(a) Babesiosis
{b) Theileriasis
(c) Dictyocaulosis
(d) Tick infestation

[ad

The protective epitops present on the

surface of a protein molecule may be

~ chemically synthesized and used as one
of the following

85.

(a) Anti-idiotype vaccine
‘, b) _Syﬁthetic peptide vaccine
(c) Recombinant vaccine

{d) DNA vaccine
86. Which one of the following vaccines
against rabies for dog is free from most
of the post vaccinal reactions ?

(a) Chick embryo origin flury vaccine
(b) BPL inactivated sheep brain
" vaccine ‘ '
{c) Cell culture rabiés vaccine (inacti-
vated)
(d) Mouse brain vaccine
87. The syndrome characterised by nausea,

vomiting, abdominal pain and diarrhoea,

2-6 hours after eating contaminated
food is caused due to '

(a) Salmonella tvphimurivm
(b) Staphylococcus aureus
" (¢) Bacillus cereus

(d) Clostridium botulinum

N-DTQ-K-CJX - A
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88. Botulinum Neurotoxin (BONT) is poten-
tiated (activated) by which one of 'the -
following ? '

(1) Pepsin
(b) Renin B
(©) Trypsin

(d) Enterokinase

Which one of the following organisms is
known . to cause contagious pustular
dermatitis not only in sheep and goat but -
also in abattoir workers, butchers' or
meat handlers ?

89.

Bacillus anthracis o

(a)
(b) Bacillus cereus Ty
(c')
(d)

Entero virus

Pox virus -

[

90. What is the correct sequence of the
following drugs in order of their
increasing duration of action ?

{.
1. Pentobarbitone sodium
2. Thiopentone sodium

3. Phenobarbitone sodium

Select the correct answer using the
code given below : '

T
Y

(@) 1,32
) 1,2,3 -
© 3,2 1

@ 2, 1,3
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91

- 92.

93.

Consider the following inhalant anaes-
thetics for euthanasia :

1. Isoflurane
2. Desflurane
3. Halothane
4. Nitrous oxide

Which of the following is the correct

~increasing order of their MAC (minimal

alveolar concentration) ?
(@ 1,234
(b) 3,1,2, 4
() 2,3,1,4
@ 3,2 1,4

Which of the injectablé antibiotic should

not be used in lactating dairy F:attle ?
(a) Oxytetracyclin'e hydrochloride

(b) Ampicillin mhydrate

{c) Dihydrostreptomycin sulphate

(d) Procaine penicillin G

Which of the . following is not

recommended to be used in egg laying
birds (eggs for human food) ?

1. ‘Sodium arsenilate
2. Tylosin phosphate
3. Suifa quinoxaline
4. Spectindmycin

Select the correct answer using the
code given below :

(a) 2 and 3 only
-(b) 1,2 and 4

{(c) 1,3 and 4-
(d) l,iand 3

N-DTQ-K-CJX - A .
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9.

95s.

96.

Which one of the following combina-
tions, of drugs is the safest and re}ja})le
for immobilization of elephants ?

(a) Etorphine + Acepromazine |
(b) Etorphine + Xylazine

(c) Droperidol + Feutany] citrate .
(d) Ketamine + Xylazine

Which of the following is not a pharma-
cological effect of acepromazine ?

(a) It may induce bradycardia or SA
arrest '
(b) In the dog, it blocks or prev_énts
arrthythmic and ventricular fibrillary
actions of epinephrine and "halo-
thene '

~(c) yIt has anti spasmodic activity "due

. to complete blockade of the. f
adrenergic receptors

B
(d) It may induce arterial hypotension

Which one of the following is the. major
side effect produced by neurolept-

- analgesic diazepam-fentanyl in canine ?

(a) Tachycardia
(v) Diuresis
(c) I_-Iyp;rtension )

‘ (d) Bradycardia -

97.

Consider the following statements :

. f
1. Septicaemic  collibacillosis  is
common in foals and calves but’
~ rare in lambs.

-2. Enteric collibacillosis is rare in
© calves. . . "

Which of the statements given' above
is/are correct ? C

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2-
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98. Match List I with List IT and select the
comrect answer using the code given
below the Lists :

List 1
(Disease)

List I
( Quarantine period
recommended by OIE)

A Rinderpest

1. 3 months
B. Tuberculosis - 2. 28 days
C. Contagious 3. 21 days
bovine pleuro- . 4. 180 days

pneumonia

D. Theileriosis

que : :

" A B .C D
@ 2 4 1 3
® 2 I 4 3
© 31 4 2
@ 3 4 1 2

99.

Through which of the airports in India is

the import of animals by air permitted ? .

(a) Delhi, Mumbai, Chennai, Koikata,

Cochin and Tiruchirapally

Delhi, Chennai,. Kolkata, Ahmeda-
bad and Visakhapatnam '

Delhi, Mumbai, Hyderabad, Trivan-
drum and Tiruchirapally

(b)
(c)

(d)' Mumbai, Chennai, Kolkata, Benga-

luru and Visakhapatmam

100. Consider- the following statements :

1. Potassium deficiency does not

occur in. farm animals kept under .

natural conditions and no potassium
supplement is necessary-in the-diet.

2. Sodium deficiency does not occur
in farm animals kept under natural
conditions and no sodium supple-
ment is necessary in the diet,

N-DTQ-K-CJX - A
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101.

Which of the statements given above
is/are comect ? '

(a) l‘only

(b) 2 only -

(c) Both | and 2 -

(d) Neither 1 nor2

The vitamin deficiency that results due

to, prolonged usage of sulpha drugs as
- anticoccidial in poultry farm is

(a)
(b)
(c)
(d)

Vitamin K

Vitamin E

Vitamin D

Vitamin A

When thé poultry bird is in egg
production, the skin is relatively

(@) dry and hard - _

(b? fatty _ ) '

(c) fleshy -

(d) thin and soft

102.

103. Consider the -following statements :

Chronic form of erysipelas in pigs is
- manifested by. -
1. Arthritis | .
2. diamond shaped skin lesions
3. vegetative endocarditis

Which of the statements given above
. is/are correct ?

(a) 1,2 and.3

(b) 1 and 2 only
(¢) 2 and 3 only
(d) 1 and 3 only
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104.

105.

106,

i
'."ﬁl.
107.

“Leathery plaques” on' placenta are
pathognomonic features following abor-
tion due to

{a) Campylobacteriosis

(b) Trichomomasis

{c) Brucellosis |

(d) Listeriosis

Which of the following physical

properties of milk is affected by mastitis
infection ?

(a) Electrical conductivity
(b) Specific gravity

(¢) Surface tension

(d) Viscosity

Which one of the following micro-
organisms in milk -is responsible for
causing sore throat in human beings ?

(a) Streptococcus pyogenes
(b) Shigella spp.

{c) Coxiella burnetii

(d) Mycobacterium tuberculosis

Which of the following quality control
tests is used for the determination of
both heat stability and pH of milk ?

(a) COB test
(b) Alcohol-Alizarin

(c) Methylene blue reduction test

108.

() Freezing point

Accor&ing to PFA Rules (1976), cream
should contain milk fat not less than
{a) 25%

(b) 20%

(c) 18%

(d)  15%

N-DTQ-K-CJX - A
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109. Which one of the following minimises
the corrosive action of acids or alkali on
metal surfaces ? ‘
(a) Sodium sulphite
(b) Chlorine
(c) Trisodium phosphate
- (d} Phosphoric acid

110. What is l_he per cent alkalinity of the
detergent used for CIP cleaning of HTST
pasteurizets 7

@@ 010 - 020

(b) 0-15 — 0-60 | N
@) 050 — 075 . 2 |
(d) 060 — 0-70 ' ‘ -

1i1. Which one of the following stabilizers
has high water holding capacity and
can be easily dissolved in ice cream mix
and can also act as an emulsifier ?

{a) Gelatin

(b) Sodium alginate

(c) Carageenan

(d) Carboxy methyl cellulose

112. Which of the following tests is most
commonly used for density tests of pan
samples of condensed milk ?

(a) Lactometer

(b) Baume hydrometer
(c) Pilot sterilizer
(d) Phosphatase

113. Which one of the following pairs is
- correctly matched ?
(a) Sweet curdling : Staphylococcus
aureus '
(b) Ropiness : Alcaligenes
viscolactis
(¢) Gas production : Pseudonionas
- _ fragi
(d) Fruity flavour : Pseudomonas.
mucidolens




104.

105.

o Ty wefTer 3 vt oroer o e
i firer fafRve snfer soes weor @
() FrTEeEiEaT

“(b) WG

(c) PATTE o
@) foefaa

Frefafea & & ¥ &1 qu & ity

L AT GHAT & T g R 7
- (a) A e '

106.

107.

) fafire o

(©) T ™

(d) YT | ..
freafafes & & 37 a1 @& qu ¥ eofém
yersiial Asal § % T0E W FEE £ 7

(a) é@mzmtrraﬁﬁv

b) Revevspp.

(c) THICET AT -

@ AR aaAE
freafofes & & a7 &1 mr feso
T U & a9-wiae oK pH M1 &
Frafeor & forg o S @ 7

" (a) COB ugzor

108,

(b) TR -t

(©) ﬁ‘&sﬁ*«rqwqﬂrﬂ

@) femrw

PFA. frmii (1976) & ITER, $H gu

FAT A TE BT =Y

() 25% g

(b) 20% &

S (c) 18% &

(d) 15% &

109

110.

111.

. Free & & @ o o g B S

I AT AT AR Fi e fhar Y e
wAT § 7 o

(a) !’f’l’%ﬂ"rm

(b) FT

(¢) TEafeaw wigke

(d) HIERIGE ot -

HTST TEYdTat £ crpmméa?sﬁm
9O ATAEE 6 qREar & Erf%ma

-

(a) 0-10 - 0-20
(b) 015 - 0-60
(c) -0-50 - 0-75
(d) 0-60 - 070

frefofea § & 9 4 & ended §

. I S 0 AT € HR I8 Amad

fereror # rare & siverT o geRaT & FAT 9%
ITHEIERE HY a¥E St H w awar @ 7
(a) Ffém

(b) wifsaw dfme

(c) Fufemm

(@ FEiE A e

112.

113.

35 .

frfafaa & & a9 & o st ga9fa
79 F 9 oo (39 &) F e -
ﬁwﬁm%ﬁqaﬁ%mﬂw
g e § 7

(2) WEHIX -

(b) &M EEGIHIR

(c) e Feidw

(d) ®iEReH

Frfafer & & & @ & g w6
qRfeg & 7 |

(a) WK & 9T ;. efedeme

(b) TIFAT  : Ushtarfoma
: et
() N IAH - ;. wgEmErATE Hend
(d) e ST qETE : EEE
' e

&

.~ A = N-DTQ-K-CJX




115.

¥16.

114, Consider the following statements :

I. For meat preservation, curing con-
sists of addition of salt only.

2. For meat preseryation, curing con-

sists of addition of salt and nitrates.
3. By curing, myoglobin is converted
to mitroso-myoglobin.

Which of .the statements given above
is/are correct ?

. (a) 1 only

(b) 1 and 3
(c) 2and3
(d) 3 only

Consider the following statements :

1. Milk fever is severe hypocalcaemia
affecting dairy cattle.-

2. Milk fever usually occurs in one to
three days after calving. )

3. Milk fever is characterized by high
body temperature.

Which of the statements given above
is/are correct ? :

(a) 1 only

@) 2omly -
(c) Both 1and?2-

(d) Neither 1 nor 2

Soft ice cream is usually drawn from the
freezer at around

(@) -8to-7°C-
(b) -11to -9°C
(c) -12to -11°C
(d -14to - 13°C

Directions : -

The following 4 (Four) items consist of two
statements, one labelled as the ‘Assertion (A)’
and the other as ‘Reason (R)’. You are to
examine these two statements carefully and
select the answers to these itemns using the
codes given below :

N-DTQ-K-CJX ~ A
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Code

8

117.

(a) Both A and R are individually true’
and R is the correct explanation
of A | o
Both A and R are individually true
but R is not the correct explanation
of A"«

(¢) A is true but R is false

{d) A'is false but R is true

®)

Assertion (A) : Lactosé plays an impor-

tant role in the success-

. ' ful control of the texture

118.

119.

120. Assertion (A) :

of condensed milk.

The size of the lactose
crystals determines the
relative smoothness of
condensed milk.

Reason

(R) :

Agmark Red Label ghee
is superior in quality
~ than the Agmark Green
. Label ghee. '
(R) : Agmark Red Label ghee
contains lower propor-
tion of moisture than the
Agmark Green Label
ghee.

Assertion (A) :

Reason

Application of HACCP
quality system assures
complete safety of milk
products to consumers.
HACCP is an end-point
testing  method for
ensuring the safety of
milk products.

Assertion (A) :

Reason (R):

In the manufacture of
processed cheese, addi-
tion of emulsifier is
essential.

: Emuisifier  helps to
improve the whipping
ability of the processed
cheese. :

-

Reason (R)
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